TYMOAOrIO TPITQNOMETPIAZ

/2
X | sinx | cosx
0 0 1
n/6 | 1/2 |+/3/2 0
n/4 | V2/2 | V22
n/3 | +3/2| 1/2
/2 1 0
3n/4
sin®x + cos?x =1 sin(a + b) = sinacosb + sinbcosa
sinx cos(a + b) = cosacosb ¥ sinasinb
tanx =
coSx _
. , . azth a+b
coSx sina % sinb = 2sin( Ycos( )
cotx = — 2 2
sinx
a+b a-—
1 cosa + cosb = 2cos( Ycos( )
c0s’x = ————— 2 2
1+ tan?x
o a+b.  a-b
- 1 cosa — cosb = —2sin( )sin( )
sin“x = > 2 2
cot?x
sin2a = 2sinacosa
) 1+ cos2a
cos‘a =————
2 cos2a = cos?a — sin’a
5 1 —cos2a
sin‘a = ————
2
14
a cosx =By
sinx = afy
x




